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1.Which two Cisco Nexus 1000V Series Switch features exceed the functionality of the VWware vNetwork 

Distributed Switch? (Choose two ) 

A. access control lists 

B. QoS marking 

C. Network vMotion 

D. port state migration 

E. DV Port Groups 

Answer: AB 

 

2.When using a Cisco UCS Director, a typical workflow consists of which two terms? (Choose Two ) 

A. Resource Manager 

B. Workflow Designer 

C. Scheduler 

D. Activity Planner 

E. Predefined Tasks 

Answer: BE 

 

3.Which model is a deployment model in cloud computing? 

A. automate cloud 

B. layered cloud 

C. private cloud 

D. collapsed cloud 

Answer: C 

 

4.Which statement about a bridge domain is true? 

A. A bridge domain must be liked to one internal network and one external network 

B. A bridge domain must be linked to a physical domain 

C. A bridge domain typically has at least one subnet that Is associated with it 

D. A bridge domain must have at least one external network that is associated with it 

Answer: C 

 

5.Which two options are primary elements of a tenant? (Choose two ) 

A. firewall rules 

B. contracts 

C. EPG 

D. access policies 

E. switch domains 

Answer: BC 

 


